222 $ ASZNETA

ol AL BIZAZZBOHA A 2
Jlzk: 20144 18 12 ~ 20144 128 312X

o

FT SAHMAM (e
2 A QL T ELE FANTE [gaz e o= | J== 22Dy e = bl D
golng s TS| SRS
3
2014-01-06| JIEt ELSE JHel N 10,491,176
2014-06-29| JIEt E2E JHel N sE=y/ 3,624
2014-12-28| JIEt EL2E JHel N 2,360
2. AT E SAHMA
AFCH
8| g B =5 ZANDE [g=a [ow | 2= [ o== | 28X Ly = >2 /et S bl 2
golne | g [JI20g [sHoE
A
1 12014-08-07| XIGAtE] SASE| Delgel N HIZ M =3l =3l 2[ 1,200,000
3. TAF ALFEHAMAM (el
2w | ngan A B W 2 o e NESIES !
S=0E
A
1 12014-01-13 SH= T LS RE =8 14,920 N 3323
2 |2014-01-22 eyes1004(HAESS(AES)) &2 97,200 N 22e=
3 |2014-01-22 eyes1004(HAES(AES)) &2 4,000 N 22e=
4 |2014-01-28 20149 EHOIX RX2el I 1,056,000 N CAEE2H
5 |2014-01-28 S30 ME =5 &M 3,000 N +=EHl & =2
6 |2014-02-05 EHOIX SXEa HAMN LS 2,250 N 2323
7 [2014-02-10] AAIXI MEZ (00| =&AL 2014 AlES) 1,221,000 N CANZE2H
8 |2014-02-28|eyes1004(41E3) HIZ0l 2 FDR(AH %) 50,000 N CAZE2H
9 |2014-02-28|eyes1004(AIE3) HZ0l 2 D2(EHEEF) 50,000 N CA2E2H
10 |2014-03-25| 20144 28 102 S22 HAUS &= 32 2,000 N S2H Y 42
11 |2014-04-23 eyes1004(83) &2 127,800 N 22223
12 |2014-04-23 eyes1004(23) a2 4,000 N 222
13 |2014-04-29| AAIX RIEZ(0H0IZFAF 20143 25) 1,221,000 N CA2E2H
14 12014-04-30 oz 2L =HIEI(SE 2) 496,140 N ASI A 2| THE A I
15 12014-05-08 24 SL=H AN 240,000 N ASI A 2| THE A I
16 |2014-05-14 24 2L=H JtdolE 2 196,000 N ASI A2 THE A I
17 12014-05-29 24 SLEH IS M 155,000 N ASI A2 THE A I
18 |2014-06-03 eyes1004(23) M0 2 A2 50,000 N CHZESY
19 [2014-06-03| eyes1004(E35) @12 20 G2 ++5 500 N +=2H & =2
20 [2014-08-22 X Al 2H(EVEREST) =2l 121,000 N A& ZHI R
21 [2014-09-15|eyes1004(0iE5) 202 30 HE =42 500 N S2H Y 42
22 |2014-09-15 eyes1004(0iS3) ME 2 A0z 50,000 N S H2E2HI
23 |2014-10-27 eyes1004(JI235) &2 116,070 N 2323
24 [2014-11-12| AAX MEZ(0LOIZHAL 2014 01235) 1,221,000 N CAZE2H
25 [2014-11-12| AAX MEZ(OLOIZHAL 20143 J1235) 1,221,000 N CAZE2H




= AL YAMIAM

4. 3¢

gl

i Ui
s} & mA.Uu._
3o || =
K0
M Al
<
H
N
R0
o
al S
i 2
00 S
<0 ™
oF
g 5 -
0 N nwu
<+ 9
iof || ©
BT
(@)
o IF K ¥
0k = - =l
) o L
& o o
o
3 =
00 Mo
< =)
3
= ~ K0
" R 80 =0
o = [
A ol |l ol
= Ulo | 7
v ;
mn
(=
) ro
ﬁ
5 o
=4 T 7l
ol |l = 3 K
o0 + ro
< m m_u
__o_l
gl _ 13 -
<t T} IR

I HISH 2H AR

od
0+

Ol 21 4 GHOd

=1
=

M) 2

=
LICE.

=1

=2
Sk
=]

FXI OtL

H41z=2 6(
]

H

x|
=
n
=}



